A & ol & AF & Ml A
20148 =3 3 3 sHEASNASEA
g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
Z2-2-8-5 Oll &F o JIEH Hns2
E5 Al 2,816,083 2,817,446 A~ 1,363
200 M2l +=¢ 130,778 136,078 25,300
210 & HAN 2= 37,134 42,434 5,300
216 Ol Xt==¢ 37,134 42,434 25,300
216-01 33030l K== 11,124 16,500 A5,376
<HSI=SLL > 11,124 16,500 Ab5,376
OsHEALSXEIIS 04 741,600,000 *1.5/100 11,124 16,500 Ab5,376
216-02 It 8 Xt= 3l =01 Xt~ ¢ 26,010 25,934 76
<zI=sZ > 26,010 25,934 76
OsHEASIEII= 843 014+ 26,010 25,934 76
— 20094 &= 2 (655 Jt) 451,300,000& *0.5/100 2,256 2,254 2
— 20109 = 2 (545 0t) 878,700,000& *0.5/100 4,393 4,403 A 10
—2011E =2 (455 t) 1,207,200,000& «0.5/100 6,036 6,029 7
— 20129 =2 (525 0t) 1,428,600,000& «0.5/100 7,143 7,133 10
— 20138 =2 (725 t) 1,236,500,000& «0.5/100 6,182 6,115 67
700 EX =L SHUENH 2,685,305 2,681,368 3,937
710 28 +S 2,685,305 2,681,368 3,937
713 EX=d83+8 1,297,253 1,293,316 3,937
713-01 21X =8 =& 1,297,253 1,293,316 3,937
<zIEsZ > 1,297,253 1,293,316 3,937
OsHEaAsSIEII= 8t =+ 1,297,253 1,293,316 3,937
— 20094 &= 2 (655 Jt) 450,953,000& 450,953 450,953 0
— 20109 = 2 (545 0t) 440,400,000& 440,400 440,397 3
—2011E =2 (455 t) 405,900, 000& 405,900 401,966 3,934




